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IBM P2090-011 : Practice Test

Question No : 1

An InfoSphere Change Data Capture (CDC) instance will NOT launch if

A. the instance metadata schema is dropped

B. the instance port number is used by another active process
C. the database access password has changed

D. All of the above.

Answer: D

Question No : 2

Which of the following statements about CDC subscription members is TRUE? Different
subscription members can replicate data:

A. between the same pair of Source and Target Datastores.
B. between different pairs of Source and Target Tables.

C. using different types of table mappings.

D. All of the above.

Answer: D

Question No : 3

Which of the following statements about CDC Users is FALSE?

A. Multiple CDC users can be assigned to a single datastore.

B. A single CDC user can be assigned to multiple datastores.

C. A CDC user must be an Operating System user or a Database user.

D. A CDC user need not be an Operating System user or a Database user.

Answer: C

Question No : 4
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IBM P2090-011 : Practice Test
Which of the following replication methods is best suited for de-normalizing tables?

A. Adaptive Apply

B. Summarization

C. Consolidation ?0One-to-One
D. Consolidation ?0One-to-Many

Answer: C

Question No : 5

Is CDC capable of replicating DDL changes?

A. Yes, this capability is natively built in to all editions of CDC.

B. Yes, this capability can be implemented using CDC user exits.

C. Yes, but this capability is limited to certain data sources and platforms at this time.
D. None of the above.

Answer: C

Question No : 6

Which additional step is required to configure bi-directional replication?

A. check the 'Prevent Recursion' box
B. specify Primary Key

C. specify a Unique Index

D. restart the CDC source instance

Answer: A

Question No : 7

Which of the following sets of replication modes is supported in CDC?

A. Refresh, Net Change, Periodic
B. Refresh, Continuous, Real-Time
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